pages.
50, will be treated as malpractice.

pulsorily draw diagonal cross lines on the remaining blank

identification, appeal to evaluator and /or equations written eg, 42+-8

our answers, com

2. Any revealing of

Important Note : 1. On completing y.

Time: 3 hrs. )
it \
Note: Answer any FIVE SJull questio .sgf%*cwgfoosing ONE full questionffrom each module.

a. Many networks, including inte

“HTTPResponse mes$d

17CS52

.

“Max. Marks: 100

¢

' ra A,

Module-1 T,

met, provide more than one %”ra/nspon layer protocol. When

you develop an applicatiqn{a youineed to choose one ofithe‘available transport layer protocol

and consider various Hyg‘i‘é‘r‘;n‘éters. Explain the parar”ﬁé%grs and protocols to be considered

while designing an apﬁié&}ﬁ%n. R, " (08 Marks)

True or False : L P N

1) Processes on" t\?b different systems %d@ﬁunicate with each other by exchanging
messages across the computer networks %

i1) A client$er¥ser architecture achieves %éﬁ%ct security

111) Socggﬁi&@?hardware interface thgough which a process sends message into, and receives
messages from the network puy N

v) No.data loss is tolerated in multimedia applications s%éﬁjas conversational audio/video

v) Developing a new network application for the intertiet offen requires one to decide
whether to choose UDP,or TCP. %%@ %@ZZ m;% (05 Marks)

With a simple sketch, explain how SMTP operate wﬁe% A send mailito B¥vhere mail server

of A and B are differentfé@hp@{f the sequence of e\@e%ts (07 Marks)

]

F d

HTTPRequest ry&%@ge
GET/somedir/pagerhtml HTTP/1.1
HOST : Wwvv&@oﬁﬁeschool.edu
Connection : close
User_agent* Mozilla/5.0
Accept Janguage : fr
—

Interpret the meaning of ea

plain meaning of each

(05 Marks)

Connection : close :
Date : Tue, g201115:44 %
Server : Apac he/2.2.
Last modified: Tue, 09 Aug 2011 15:11:03 GMT
Content Length : 6821 4,
Content_type : text/htm]
(data data

-

(relayl.bar.foo.com, 145.37.93.126, A)
(foo.com, mail.bar.foo.com, MX). (08 Marks)
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